FERAERI C LD RERIFHR (BAIR D)

Hr=ICHIBAL=RRE (&)

fEE%FE Al B3t
FAE-RELEFSE 5= H
R REE 8 13 7 20
X 3L /NEAR 29 61 2 63
X 37 AR 11 17 1 18
NEEEXF 2 1 3 4
g aE X EE 54— 1 0 1 1
[EEEEUEER 6 6 5 11
HELE 1 0 1 1
AR—YHEEK 1 0 1 1
HEREAR 2 0 2 2
REREMER 1 0 1 1
B ERER 1 0 4 4
#eE 63 98 28 126

CERO EHRBRICIOBRREH - BRBEEHFT,




SASHETHEL—BEMICH T 5% DEREARE - A FIKR

2H 38 48 58 68 76 8H
RIGREE 2 3 3 6 2 8 3
FHREASH 20 17 15 13 12 11 16
XL /NEAR FERFE 0 0 0 0 0 0 0
FREH 0 0 0 0 0 0 0
FHREASH 5 4 4 2 2 2 4
X 37 AR FERFH 0 0 0 0 0 0 0
FREATH 0 0 0 0 0 0 0
EESEER 1 1 0 0 0 0 0
fEEE RS 1 1 1 2 2 3 4

CER ERBERELELTLET




